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NEW QUESTION 1
- (Exam Topic 1)
An engineer is configuring redundant network links between switches. Which of the following should the engineer enable to prevent network stability issues?

A. 802.1Q

B. STP

C. Flow control
D. CSMA/CD

Answer: B

NEW QUESTION 2
- (Exam Topic 1)
Which of the following DNS records works as an alias to another record?

A. AAAA
B. CNAME
C. MX

D. SOA

Answer: B

NEW QUESTION 3

- (Exam Topic 1)

A network administrator is designing a new datacenter in a different region that will need to communicate to the old datacenter with a secure connection. Which of
the following access methods would provide the BEST security for this new datacenter?

A. Virtual network computing
B. Secure Socket Shell

C. In-band connection

D. Site-to-site VPN

Answer: D

NEW QUESTION 4
- (Exam Topic 1)
Which of the following can be used to centrally manage credentials for various types of administrative privileges on configured network devices?

A. SSO

B. TACACS+

C. Zero Trust

D. Separation of duties

E. Multifactor authentication

Answer: B

NEW QUESTION 5

- (Exam Topic 1)

An administrator is writing a script to periodically log the IPv6 and MAC addresses of all the devices on a network segment. Which of the following switch features
will MOST likely be used to assist with this task?

A. Spanning Tree Protocol

B. Neighbor Discovery Protocol

C. Link Aggregation Control Protocol
D. Address Resolution Protocol

Answer: B

NEW QUESTION 6

- (Exam Topic 1)

An engineer notices some late collisions on a half-duplex link. The engineer verifies that the devices on both ends of the connection are configured for half duplex.
Which of the following is the MOST likely cause of this issue?

A. The link is improperly terminated

B. One of the devices is misconfigured

C. The cable length is excessive

D. One of the devices has a hardware issue

Answer: D
NEW QUESTION 7
- (Exam Topic 1)

A technician is installing a high-density wireless network and wants to use an available frequency that supports the maximum number of channels to reduce
interference. Which of the following standard 802.11 frequency ranges should the technician look for while reviewing WAP specifications?
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A. 2.4GHz
B. 5GHz
C.6GHz
D. 900MHz

Answer: B

NEW QUESTION 8

- (Exam Topic 1)

A technician wants to deploy a new wireless network that comprises 30 WAPs installed throughout a

three-story office building. All the APs will broadcast the same SSID for client access. Which of the following BEST describes this deployment?

A. Extended service set

B. Basic service set

C. Unified service set

D. Independent basic service set

Answer: B

NEW QUESTION 9
- (Exam Topic 1)
Which of the following systems would MOST likely be found in a screened subnet?

A. RADIUS
B. FTP
C.SQL

D. LDAP

Answer: B

NEW QUESTION 10

- (Exam Topic 1)

A systems administrator needs to improve WiFi performance in a densely populated office tower and use the latest standard. There is a mix of devices that use 2.4
GHz and 5 GHz. Which of the following should the systems administrator select to meet this requirement?

A. 802.11ac
B. 802.11ax
C. 802.119g
D. 802.11n

Answer: B

NEW QUESTION 10

- (Exam Topic 1)

After the A record of a public website was updated, some visitors were unable to access the website. Which of the following should be adjusted to address the
issue?

A.TTL
B. MX

C. TXT
D. SOA

Answer: A

NEW QUESTION 13

- (Exam Topic 1)

A store owner would like to have secure wireless access available for both business equipment and patron use. Which of the following features should be
configured to allow different wireless access through the same equipment?

A. MIMO
B. TKIP
C.LTE
D. SSID

Answer: D

NEW QUESTION 15

- (Exam Topic 1)

The management team needs to ensure unnecessary modifications to the corporate network are not permitted and version control is maintained. Which of the
following documents would BEST support this?

A. An incident response plan
B. A business continuity plan
C. A change management policy
D. An acceptable use policy

Answer: C
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NEW QUESTION 16
- (Exam Topic 1)
Which of the following factors should be considered when evaluating a firewall to protect a datacenter’s east-west traffic?

A. Replication traffic between an on-premises server and a remote backup facility
B. Traffic between VMs running on different hosts

C. Concurrent connections generated by Internet DDoS attacks

D. VPN traffic from remote offices to the datacenter's VMs

Answer: A

NEW QUESTION 20
- (Exam Topic 1)
Which of the following would need to be configured to ensure a device with a specific MAC address is always assigned the same IP address from DHCP?

A. Scope options

B. Reservation

C. Dynamic assignment
D. Exclusion

E. Static assignment

Answer: B

NEW QUESTION 25

- (Exam Topic 1)

A technician is searching for a device that is connected to the network and has the device’s physical network address. Which of the following should the technician
review on the switch to locate the device’s network port?

A. IP route table
B. VLAN tag

C. MAC table
D. QoS tag

Answer: C

NEW QUESTION 27
- (Exam Topic 2)
Which of the following protocol types describes secure communication on port 4437

A. ICMP
B. UDP
C.TCP
D.IP

Answer: C

NEW QUESTION 29
- (Exam Topic 2)
Which of the following protocols will a security appliance that is correlating network events from multiple devices MOST likely rely on to receive event messages?

A. Syslog

B. Session Initiation Protocol

C. Secure File Transfer Protocol
D. Server Message Block

Answer: A

NEW QUESTION 30

- (Exam Topic 2)

To comply with industry requirements, a security assessment on the cloud server should identify which protocols and weaknesses are being exposed to attackers
on the Internet. Which of the following tools is the MOST appropriate to complete the assessment?

A. Use tcpdump and parse the output file in a protocol analyzer.

B. Use an IP scanner and target the cloud WAN network addressing.
C. Run netstat in each cloud server and retrieve the running processes.
D. Use nmap and set the servers' public IPs as the targets.

Answer: D

NEW QUESTION 31

- (Exam Topic 2)

A network administrator wants to reduce overhead and increase efficiency on a SAN. Which of the following can be configured to achieve these goals?
A. Port aggregation

B. Traffic shaping
C. Jumbo frames
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D. Flow control

Answer: C

NEW QUESTION 35

- (Exam Topic 2)

A firewall administrator is implementing a rule that directs HTTP traffic to an internal server listening on a non-standard socket Which of the following types of rules
is the administrator implementing?

A. NAT
B. PAT
C.STP
D. SNAT
E. ARP

Answer: D

NEW QUESTION 39

- (Exam Topic 2)

A network technician is installing an analog desk phone for a new receptionist After running a new phone line, the technician now needs to cnmp on a new
connector. Which of the following connectors would MOST likely be used in this case?

A. DB9

B. RJ11
C. RJ45
D. DB25

Answer: A

NEW QUESTION 42

- (Exam Topic 2)

A network administrator is setting up several IoT devices on a new VLAN and wants to accomplish the following
* 1. Reduce manual configuration on each system

* 2. Assign a specific IP address to each system

* 3. Allow devices to move to different switchports on the same VLAN

Which of the following should the network administrator do to accomplish these requirements?

A. Set up a reservation for each device

B. Configure a static IP on each device

C. Implement private VLANS for each device

D. Use DHCP exclusions to address each device

Answer: C

NEW QUESTION 47

- (Exam Topic 2)

Two remote offices need to be connected securely over an untrustworthy MAN. Each office needs to access network shares at the other site. Which of the
following will BEST provide this functionality?

A. Client-to-site VPN

B. Third-party VPN service
C. Site-to-site VPN

D. Split-tunnel VPN

Answer: C

NEW QUESTION 51
- (Exam Topic 2)
Which of the following is required when connecting an endpoint device with an RJ45 port to a network device with an ST port?

A. A media converter
B. A bridge

C. An MDIX

D. A load balancer

Answer: A

NEW QUESTION 54

- (Exam Topic 2)

A network technician is investigating an issue with handheld devices in a warehouse. Devices have not been connecting to the nearest APs, but they have been
connecting to an AP on the far side of the warehouse. Which of the following is the MOST likely cause of this issue?

A. The nearest APs are configured for 802.11g.

B. An incorrect channel assignment is on the nearest APs.
C. The power level is too high for the AP on the far side.
D. Interference exists around the AP on the far side.
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Answer: A

NEW QUESTION 58

- (Exam Topic 2)

The management team has instituted a 48-hour RTO as part of the disaster recovery plan. Which of the following procedures would meet the policy's
requirements?

A. Recover all systems to a loss of 48 hours of data.

B. Limit network downtime to a maximum of 48 hours per year.
C. Recover all systems within 48 hours.

D. Require 48 hours of system backup maintenance.

Answer: C

Explanation:
Reference: https://www.druva.com/blog/understanding-rpo-and-rto/

NEW QUESTION 59
- (Exam Topic 2)
A customer wants to segregate the traffic between guests on a hypervisor. Which of the following does a technician need to configure to meet the requirement?

A. Virtual switches
B. OSPF routing
C. Load balancers
D. NIC teaming

E. Fibre Channel

Answer: A

NEW QUESTION 63

- (Exam Topic 2)

A network engineer is designing a new secure wireless network. The engineer has been given the following requirements:
* 1 Must not use plaintext passwords

* 2 Must be certificate based

* 3. Must be vendor neutral

Which of the following methods should the engineer select?

A. TWP-RC4
B. CCMP-AES
C. EAP-TLS
D. WPA2

Answer: C

NEW QUESTION 68
- (Exam Topic 2)
Which of the following policies is MOST commonly used for guest captive portals?

A. AUP
B. DLP
C.BYOD
D. NDA

Answer: A

NEW QUESTION 72

- (Exam Topic 2)

A corporation has a critical system that would cause unrecoverable damage to the brand if it was taken offline. Which of the following disaster recovery solutions
should the corporation implement?

A. Full backups
B. Load balancing
C. Hot site

D. Snapshots

Answer: C

NEW QUESTION 75
- (Exam Topic 2)
Which of the following cable types would MOST likely be used to provide high-speed network connectivity between nearby buildings?

A. UTP

B. Coaxial
C. Fiber

D. Cat5

E. Twinaxial
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Answer: C

NEW QUESTION 78

- (Exam Topic 2)

A SaaS provider has decided to leave an unpatched VM available via a public DMZ port. With which of the
following concepts is this techniqgue MOST closely associated?

A. Insider threat
B. War driving
C. Evil twin

D. Honeypot

Answer: D

NEW QUESTION 81

- (Exam Topic 2)

A network technician is configuring a new firewall for a company with the necessary access requirements to be allowed through the firewall. Which of the following
would normally be applied as the LAST rule in the firewall?

A. Secure SNMP
B. Port security

C. Implicit deny

D. DHCP snooping

Answer: C

NEW QUESTION 83
- (Exam Topic 2)
Given the following output:

Which of the following attacks is this MOST likely an example of?

A. ARP poisoning
B. VLAN hopping
C. Rogue access point
D. Amplified DoS

Answer: A

NEW QUESTION 86

- (Exam Topic 2)

A network administrator is configuring a database server and would like to ensure the database engine is listening on a certain port. Which of the following
commands should the administrator use to accomplish this goal?

A. nslookup
B. netstat -a
C. ipconfig /a
D. arp -a

Answer: B

NEW QUESTION 90

- (Exam Topic 2)

An IDS was installed behind the edge firewall after a network was breached. The network was then breached again even though the IDS logged the attack. Which
of the following should be used in place of these devices to prevent future attacks?

A. A network tap

B. A proxy server

C. AUTM appliance
D. A content filter

Answer: C

NEW QUESTION 93

- (Exam Topic 2)

A network administrator has been directed to present the network alerts from the past week to the company's executive staff. Which of the following will provide the
BEST collection and presentation of this data?

A. A port scan printout

B. A consolidated report of various network devices
C. A report from the SIEM tool

D. A report from a vulnerability scan done yesterday

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy N10-008 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/N10-008/ (446 New Questions)

Answer: C

NEW QUESTION 94

- (Exam Topic 3)

A network technician is hired to review all the devices within a network and make recommendations to improve network efficiency. Which of the following should
the technician do FIRST before reviewing and making any recommendations?

A. Capture a network baseline

B. Perform an environmental review.
C. Read the network logs

D. Run a bandwidth test

Answer: A

Explanation:

Before making any recommendations, a network technician should first capture a network baseline, which is a snapshot of the current performance of the network.
This will give the technician a baseline to compare against after any changes are made. According to the CompTIA Network+ Study Manual, the technician should
"capture the state of the network before making any changes and then compare the performance after the changes have been made. This will provide an accurate
baseline to compare the performance of the network before and after the changes have been made."

NEW QUESTION 96

- (Exam Topic 3)

A new office space is being designed. The network switches are up. but no services are running yet A network engineer plugs in a laptop configured as a DHCP
client to a switch Which ol the following IP addresses should be assigned to the laptop?

A.10.111

B. 169.254.1.128
C.17216 128 128
D. 192 168.0.1

Answer: B

Explanation:

When a DHCP client is connected to a network and no DHCP server is available, the client can automatically configure a link-local address in the 169.254.0.0/16
range using the Automatic Private IP Addressing (APIPA) feature. So, the correct answer is option B, 169.254.1.128. This is also known as an APIPA address.
Reference: CompTIA Network+ Study Guide, Exam N10-007, Fourth Edition, by Todd Lammle (Chapter 4: IP Addressing)

NEW QUESTION 98

- (Exam Topic 3)

A medical building offers patients Wi-Fi in the waiting room. Which of the following security features would be the BEST solution to provide secure connections and
keep the medical data protected?

A. Isolating the guest network

B. Securing SNMP

C. MAC filtering

D. Disabling unneeded switchports

Answer: A

NEW QUESTION 100

- (Exam Topic 3)

A network technician needs to install security updates on several switches on me company's network. The management team wants this completed as quickly and
efficiently as possible. Which of the following should the technician do to perform the updates?

A. Upload the security update onto each switch using a terminal emulator and a console cable.
B. Configure a TFTP serve

C. SSH into each device, and perform the update.

D. Replace each old switch with new switches that have the updates already performed.

E. Connect a USB memory stick to each switch and perform the update.

Answer: B

NEW QUESTION 102

- (Exam Topic 3)

After rebooting an AP a user is no longer able to conned to me enterprise LAN A technician plugs a laptop In to the same network jack and receives the IP 169.254
0 200. Which of the following is MOST likely causing the issue?

A. DHCP scope exhaustion

B. Signal attenuation

C. Channel overlap

D. Improper DNS configuration

Answer: A
Explanation:

DHCP scope exhaustion occurs when the number of available IP addresses to be leased from a DHCP server have been used up. This could be caused by a large
number of clients on the network, or a misconfigured
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DHCP scope. When this happens, clients will be assigned an IP address from the APIPA range (169.254.0.0 to 169.254.255.255). To resolve this issue, the DHCP
scope needs to be expanded or adjusted to accommodate the number of clients on the network.

NEW QUESTION 105
- (Exam Topic 3)
A network administrator is given the network 80.87.78.0/26 for specific device assignments. Which of the following describes this network?

A. 80.87.78 0 - 80.87.78.14
B. 80.87.78 0 - 80.87.78.110
C. 80.87.781-80.87.78.62
D. 80.87.78.1 - 80.87.78.158

Answer: C

Explanation:

The network 80.87.78.0/26 is a Class A network with a subnet mask of /26, which means that it contains 26 bits of network information and 6 bits of host
information. The range of valid host addresses for this network is 80.87.78.1 to 80.87.78.62. Any addresses outside of this range are reserved for special purposes
or are not used.

NEW QUESTION 108
- (Exam Topic 3)
Which of the following needs to be tested to achieve a Cat 6a certification for a company's data cawing?

A.RJ11

B. LC ports

C. Patch panel

D. F-type connector

Answer: D

NEW QUESTION 112

- (Exam Topic 3)

A technician performed a manual reconfiguration of a firewall, and network connectivity was reestablished. Some connection events that were previously sent to a
syslog server are no longer being generated by the flrewal Which of Vie following should the technician perform to fix the Issue?

A. Adjust the proper logging level on the new firewall.

B. Tune the filter for logging the severity level on the syslog server.
C. Activate NetFlow traffic between the syslog server and the firewall
D. Restart the SNMP service running on the syslog server.

Answer: D

NEW QUESTION 113

- (Exam Topic 3)

A network technician receives a support ticket about an employee who has misplaced a company-owned cell phone that contains private company information.
Which of the following actions should the network technician take to prevent data loss?

A. Disable the user account.
B. Lock the phone.

C. Turn off the service.

D. Execute remote wipe.

Answer: D

Explanation:

The best action for the network technician to take to prevent data loss in this scenario would be to execute a remote wipe on the lost cell phone. A remote wipe is a
feature that allows the administrator to erase all the data from a device remotely. This will erase all the private company information from the lost phone, preventing
it from falling into the wrong hands.

Other actions such as disabling the user account, locking the phone and turning off the service may not effectively prevent data loss. Disabling the user account
will prevent the employee from accessing company resources, but it does not erase the data on the phone. Locking the phone may prevent unauthorized access,
but it does not erase the data. Turning off the service may prevent the phone from connecting to the network, but it also does not erase the data.

NEW QUESTION 114

- (Exam Topic 3)

A newly installed VolP phone is not getting the DHCP IP address it needs to connect to the phone system. Which of the following tasks needs to be completed to
allow the phone to operate correctly?

A. Assign the phone's switchport to the correct VLAN
B. Statically assign the phone's gateway address.

C. Configure a route on the VolP network router.

D. Implement a VolP gateway

Answer: A

NEW QUESTION 117
- (Exam Topic 3)
A technician is troubleshooting a client's report about poor wireless performance. Using a client monitor, the technician notes the following information:
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Which of the following is MOST likely the cause of the issue?

A. Channel overlap

B. Poor signal

C. Incorrect power settings
D. Wrong antenna type

Answer: A

NEW QUESTION 120
- (Exam Topic 3)

Network users reported that a recent firmware upgrade to a firewall did not resolve the issue that prompted the upgrade. Which of the following should be

performed NEXT?

A. Reopen the service ticket, request a new maintenance window, and roll back to the anterior firmware version.

B. Gather additional information to ensure users' concerns are not been caused by a different issue with similar symptoms.
C. Employ a divide-and-conquer troubleshooting methodology by engaging the firewall vendor's support.

D. Escalate the issue to the IT management team in order to negotiate a new SLA with the user's manager.

Answer: A

NEW QUESTION 123
- (Exam Topic 3)
SIMULATION

A network technician replaced a switch and needs to reconfigure it to allow the connected devices to connect to the correct networks.

INSTRUCTIONS

Click on the appropriate port(s) on Switch 1 and Switch 3 to verify or reconfigure the correct settings:

» Ensure each device accesses only its correctly associated network

« Disable all unused switch ports

» Require fault-tolerant connections between the switches

» Only make necessary changes to complete the above requirements

If at any time you would like to bring back the initial state of the simulation, please click the Reset All button.
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Switch 1 - Port 3 Configuration x
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‘Reset lo Default

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Switch 1 and Switch 2 is the only two switches that can be configured. Only switches linked together with there switch ports needs to be "tagged" and "LACP"
needs to be enabled. The other ports must be untagged with no LACP enabled. You only need to assign the correct vlan via each port. 'Speed and Duplex’' needs
to be Speed=1000 and Duplex=Full, with is by default.

https://resources.infosecinstitute.com/topic/what-are-tagged-and-untagged-ports/

NEW QUESTION 126
- (Exam Topic 3)
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Which of the following options represents the participating computers in a network?

A. Nodes
B. CPUs
C. Servers
D. Clients

Answer: A

NEW QUESTION 129

- (Exam Topic 3)

Users are reporting intermittent Wi-Fi connectivity in specific parts of a building. Which of the following should the network administrator check FIRST when
troubleshooting this issue? (Select TWO).

A. Site survey

B. EIRP

C. AP placement

D. Captive portal

E. SSID assignment
F. AP association time

Answer: AC

Explanation:
This is a coverage issue. WAP placement and power need to be checked. Site survey should be done NEXT because it takes a while.

NEW QUESTION 132

- (Exam Topic 3)

An IT technician successfully connects to the corporate wireless network at a hank. While performing some tests, the technician observes that the physical
address of the DHCp server has changed even though the network connection has not been lost. Which of the following would BEST explain this change?

A. Server upgrade

B. Duplicate IP address
C. Scope exhaustion

D. Rogue server

Answer: D

Explanation:

A rogue server is a DHCP server on a network that is not under the administrative control of the network staff 1. It may provide incorrect IP addresses or other
network configuration information to devices on the network, causing them to lose connectivity or be vulnerable to attacks2. The physical address of the DHCP
server may change if a rogue server takes over the role of assigning IP addresses to devices on the network. This can be detected by monitoring DHCP traffic or
using tools such as RogueChecker2.

NEW QUESTION 136
- (Exam Topic 3)
Which of the following uses the link-state routing algorithm and operates within a single autonomous system?

A. EIGRP
B. OSPF
C.RIP
D. BGP

Answer: B

Explanation:
OSPF uses a link state routing algorithm and falls into the group of interior routing protocols, operating within a single autonomous system (AS). OSPF is perhaps
the most widely used interior gateway protocol (IGP) in large enterprise networks

NEW QUESTION 141

- (Exam Topic 3)

A technician is troubleshooting a report about network connectivity issues on a workstation. Upon investigation, the technician notes the workstation is showing an
APIPA address on the network interface. The technician verifies that the VLAN assignment is correct and that the network interlace has connectivity. Which of the
following is MOST likely the issue the workstation is experiencing?

A. DHCP exhaustion

B. A rogue DHCP server

C. A DNS server outage

D. An incorrect subnet mask

Answer: A
NEW QUESTION 143
- (Exam Topic 3)

A network administrator is reviewing the following metrics from a network management system regarding a switchport. The administrator suspects an issue
because users are calling in regards to the switchport's performance:
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Metnc Value

Uptime 201 days, 3 5 18 minutes
WD

ICRCs N N 0 i i i
Giants |2508

QOutput queus Mmaximum 40

Packets mput 1362085849

Packets oulput |G4458087024

Based on the information in the chart above, which of the following fs the cause of these performance issues?

A. The connected device is exceeding the configured MTU.
B. The connected device is sending too many packets

C. The switchport has been up for too long

D. The connected device is receiving too many packets.

E. The switchport does not have enough CRCs

Answer: A

NEW QUESTION 148
- (Exam Topic 3)
Which of the following topologies requites the MOST connections when designing a network?

A. Mesh
B. Star
C.Bus
D. Ring

Answer: A

NEW QUESTION 150

- (Exam Topic 3)

A network administrator needs to run a single command-line tool capable of displaying routing table and multicast memberships. Which of the following would
BEST help the administrator achieve the requirements?

A. arp

B. show route
C. show config
D. netstate

Answer: A

NEW QUESTION 152
- (Exam Topic 3)
Which of the following is the primary function of the core layer of the three-tiered model?

A. Routing
B. Repeating
C. Bridging
D. Switching

Answer: A

Explanation:

https://www.omnisecu.com/cisco-certified-network-associate-ccna/three-tier-hierarchical-network-model.php

Core Layer consists of biggest, fastest, and most expensive routers with the highest model numbers and Core Layer is considered as the back bone of networks.
Core Layer routers are used to merge geographically separated networks. The Core Layer routers move information on the network as fast as possible. The
switches operating at core layer switches packets as fast as possible.

NEW QUESTION 154

- (Exam Topic 3)

A network administrator is troubleshooting an issue with a new Internet connection. The ISP is asking detailed questions about the configuration of the router that
the network administrator is troubleshooting. Which of the following commands is the network administrator using? (Select TWO.)

A. tcpdump

B. show config
C. hostname
D. show route
E. netstate

F. show ip arp

Answer: BD

Explanation:

"The show config command (or some variation of it) is used to examine the configuration of a network device. For example, on a Cisco router, the show running-
configuration command permits you to see the current configuration of the device, which is stored in the RAM of the device. To view the saved configuration that is
loaded when the system is rebooted, you can use the show startup-configuration command."

"The show route command (or some variation of it) is used to view the routing table configuration of the network device. On a Cisco router, you can use show ip
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route to view the IPv4 routing table."

NEW QUESTION 159
- (Exam Topic 3)
A network engineer receives the following when connecting to a switch to configure a port:

calnac

e T 9 5 “mald nes sren oconnectison o =he nogs —— e . T <. -

Which of the following is the MOST likely cause for the failure?

A. The network engineer is using the wrong protocol

B. The network engineer does not have permission to configure the device
C. SNMP has been secured with an ACL

D. The switchport the engineer is trying to configure is down

Answer: D

NEW QUESTION 162

- (Exam Topic 3)

A technician is configuring a static IP address on a new device in a newly created subnet. The work order specifies the following requirements:
* The IP address should use the highest address available in the subnet.

» The default gateway needs to be set to 172.28.85.94.

» The subnet mask needs to be 255.255.255.224.

Which of the following addresses should the engineer apply to the device?

A. 172.28.85.93
B. 172.28.85.95
C. 172.28.85.254
D. 172.28.85.255

Answer: A

Explanation:

https://www.tunnelsup.com/subnet-calculator/ IP Address: 172.28.85.95/27
Netmask: 255.255.255.224

Network Address: 172.28.85.64

Usable Host Range: 172.28.85.65 - 172.28.85.94

Broadcast Address: 172.28.85.95

NEW QUESTION 165

- (Exam Topic 3)

A Wi-Fi network was recently deployed in a new, multilevel budding. Several issues are now being reported related to latency and drops in coverage. Which of the
following is the FIRST step to troubleshoot the issues?

A. Perform a site survey.

B. Review the AP placement
C. Monitor channel utilization.
D. Test cable attenuation.

Answer: A

NEW QUESTION 168

- (Exam Topic 3)

A network administrator is investigating a performance issue on a dual-link connection—VPN and MPLS—to a partner network. The MPLS is the primary path, and
the VPN is used as a backup. While communicating, the delay is measured at 18ms, which is higher than the 6ms expected when the MPLS link is operational but
lower than the 30ms expected tor the VPN connection. Which of the following will MOST likely point to the root cause of the Issue?

A. Checking the routing tables on both sides to ensure there is no asymmetric routing
B. Checking on the partner network for a missing route pointing to the VPN connection
C. Running iPerf on both sides to confirm the delay that Is measured is accurate

D. Checking for an incorrect VLAN assignment affecting the MPLS traffic

Answer: A

Explanation:

Asymmetric routing can occur when two routers have different paths for the same two hosts, resulting in increased latency and possible packet loss. According to
the CompTIA Network+ Study Manual, “If the path from the source to the destination is not the same in both directions, the packets will take different routes and
the latency can increase significantly.” To confirm this, the network administrator should check the routing tables on both sides of the connection and ensure that
the same path is used in both directions.

NEW QUESTION 170

- (Exam Topic 3)

A technician is troubleshooting reports that a networked printer is unavailable. The printer's IP address is configured with a DHCP reservation, but the address
cannot be pinged from the print server in the same subnet. Which of the following is MOST likely the cause of me connectivity failure?

A. Incorrect VLAN

B. DNS failure
C. DHCP scope exhaustion

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy N10-008 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/N10-008/ (446 New Questions)

D. Incorrect gateway

Answer: D

NEW QUESTION 173

- (Exam Topic 3)

A technician is documenting an application that is installed on a server and needs to verify all existing web and database connections to the server. Which of the
following tools should the technician use to accomplish this task?

A. tracert
B. ipconfig
C. netstat
D. nslookup

Answer: C

NEW QUESTION 177

- (Exam Topic 3)

An ISP is unable to provide services to a user in a remote area through cable and DSL. Which of the following is the NEXT best solution to provide services
without adding external infrastructure?

A. Fiber

B. Leased line
C. Satellite

D. Metro optical

Answer: C

Explanation:

If an ISP is unable to provide services to a user in a remote area through cable and DSL, the next best solution to provide services without adding external
infrastructure would likely be satellite. Satellite is a wireless communication technology that uses a network of satellites orbiting the Earth to transmit and receive
data. It is well-suited for providing connectivity to remote or rural areas where other types of infrastructure may not be available or may be cost-prohibitive to install.

NEW QUESTION 179
- (Exam Topic 3)
Which of the following is conducted frequently to maintain an updated list of a system's weaknesses?

A. Penetration test

B. Posture assessment
C. Risk assessment

D. Vulnerability scan

Answer: D

NEW QUESTION 183

- (Exam Topic 3)

An engineer needs to verity the external record tor SMTP traffic. The engineer logged in to the server and entered the nslookup command. Which of the following
commands should the engineer send before entering the DNS name?

A. set type=A

B. is -d company-mail.com

C. set domain=company.mail.com
D. set querytype=Mx

Answer: D

NEW QUESTION 188
- (Exam Topic 3)
Which of the following documents would be used to define uptime commitments from a provider, along with details on measurement and enforcement?

A. NDA
B. SLA
C. MOU
D. AUP

Answer: B

Explanation:

A service level agreement (SLA) is a document that is used to define uptime commitments from a provider, along with details on measurement and enforcement.
An SLA is a contract between a service provider and a customer that outlines the level of service that the provider is committed to providing and the terms under
which that service will be delivered.

NEW QUESTION 189
- (Exam Topic 3)
Which of the following is considered a physical security detection device?
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A. Cameras

B. Biometric readers

C. Access control vestibules
D. Locking racks

Answer: A

NEW QUESTION 192
- (Exam Topic 3)
During a risk assessment which of the following should be considered when planning to mitigate high CPU utilization of a firewall?

A. Recovery time objective

B. Uninterruptible power supply
C. NIC teaming

D. Load balancing

Answer: D

Explanation:
The recovery time objective (RTO) is the maximum tolerable length of time that a computer, system, network or application can be down after a failure or disaster
occurs. This does nothing to help with CPU utilization. Load balancing does this.

NEW QUESTION 194

- (Exam Topic 3)

Which of the following protocols would enable a company to upgrade its internet connection by acquiring its own public IP prefixes and autonomous system
number?

A. EIGRP
B. BGP
C. IPv6
D. MPLS

Answer: B

Explanation:

BGP is a routing protocol that is used to exchange routing information between different autonomous systems (ASes) on the internet. An autonomous system is a
network or group of networks that is under the same administrative control and uses a common routing protocol. By acquiring its own public IP prefixes and
autonomous system number, a company can use BGP to advertise these prefixes to other ASes and establish its own internet connection. This would enable the
company to have more control over its internet connection and potentially improve its connectivity.EIGRP (Enhanced Interior Gateway Routing Protocol) is a
routing protocol used within a single autonomous system, so it would not be used to establish a connection to the internet. IPv6 is a version of the Internet Protocol
(IP) used to identify devices on a network. It is not a routing protocol and would not be used to establish an internet connection.MPLS (Multi-Protocol Label
Switching) is a networking technology that is used to route packets between different networks. It is not a routing protocol and would not be used to establish an
internet connection.

NEW QUESTION 197

- (Exam Topic 3)

A network administrator determines that even when optimal wireless coverage is configured, the network users still report constant disconnections After
troubleshooting, the administrator determines that moving from one location to another causes the disconnection Which of the following settings should provide
better network stability?

A. Client association timeout
B. RSSI roaming threshold
C. RF attenuation ratio

D. EIRP power setting

Answer: B

Explanation:

In this case, the most likely cause of the constant disconnections when moving from one location to another is likely due to a problem with the roaming functionality
of the wireless network. The setting that would likely provide better network stability in this situation is the RSSI roaming threshold, which determines the signal
strength required for a client device to remain connected to the wireless network. If the roaming threshold is set too low, the client device may disconnect and
reconnect to the network too frequently as it moves between different access points. On the other hand, if the threshold is set too high, the client device may not
roam to a new access point when necessary, leading to a loss of connectivity. Adjusting the RSSI roaming threshold to an appropriate value may help to improve
the stability of the wireless network in this situation.

NEW QUESTION 201

- (Exam Topic 3)

Which of the following would be used to enforce and schedule critical updates with supervisory approval and include backup plans in case of failure?
A. Business continuity plan

B. Onboarding and offboarding policies

C. Acceptable use policy

D. System life cycle

E. Change management

Answer: A

NEW QUESTION 204
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- (Exam Topic 3)

An employee working in a warehouse facility is experiencing interruptions in mobile applications while walking around the facility. According to a recent site survey,
the WLAN comprises autonomous APs that are directly connected to the internet, providing adequate signal coverage. Which of the following is the BEST solution
to improve network stability?

A. Implement client roaming using an extended service deployment employing a wireless controller.
B. Remove omnidirectional antennas and adopt a directional bridge.

C. Ensure all APs of the warehouse support MIMO and Wi-Fi 4.

D. Verify that the level of EIRP power settings is set to the maximum permitted by regulations.

Answer: A

Explanation:

Client roaming refers to the ability of a wireless device to seamlessly connect to a different access point (AP) as the user moves around the facility. This can help
to improve network stability and reduce interruptions in mobile applications. An extended service deployment is a type of wireless network configuration that uses
multiple APs to cover a large area, such as a warehouse facility. By using a wireless controller to manage the APs, the network can be better optimized for client
roaming, which can improve network stability.

"Roaming With multiple WAPs in an ESS, clients will connect to whichever WAP has the strongest signal. As clients move through the space covered by the
broadcast area, they will change WAP connections seamlessly, a process called roaming."

NEW QUESTION 205

- (Exam Topic 3)

A network administrator installed an additional IDF during a building expansion project. Which of the following documents need to be updated to reflect the
change? (Select TWO).

A. Data loss prevention policy
B. BYOD policy

C. Acceptable use policy

D. Non-disclosure agreement
E. Disaster recovery plan

F. Physical network diagram

Answer: BF

NEW QUESTION 207

- (Exam Topic 3)

A user from a remote office is reporting slow file transfers. Which of the following tools will an engineer
MOST likely use to get detailed measurement data?

A. Packet capture

B. IPerf

C. SIEM log review
D. Internet speed test

Answer: B

Explanation:

An engineer will most likely use IPerf to get detailed measurement data about the user's slow file transfers. IPerf is a tool used for measuring network performance
and bandwidth, and it can be used to measure the speed and throughput of file transfers from the remote office. It can also provide detailed information about the
latency and jitter of the connection, which can be used to troubleshoot the slow file transfers. Reference: CompTIA Network+ Study Manual (Chapter 10, Page
214).

NEW QUESTION 208
- (Exam Topic 3)
A technician was cleaning a storage closet and found a box of transceivers labeled 8Gbps. Which of the following protocols uses those transceivers?

A. Coaxial over Ethernet

B. Internet Small Computer Systems Interface
C. Fibre Channel

D. Gigabit interface converter

Answer: C

Explanation:

The transceivers labeled 8Gbps are likely to be used with the Fibre Channel protocol. Fibre Channel is a high-speed networking technology that is primarily used
to connect storage devices to servers in storage area networks (SANS). It is capable of transmitting data at speeds of up to 8 Gbps (gigabits per second), and uses
specialized transceivers to transmit and receive data over fiber optic cables.

Coaxial over Ethernet (CoE) is a networking technology that uses coaxial cables to transmit data, and is not related to the transceivers in question. Internet Small
Computer Systems Interface (iISCSI) is a protocol that allows devices to communicate over a network using the SCSI protocol, and does not typically use
specialized transceivers. Gigabit interface converter (GBIC) is a type of transceiver used to transmit and receive data over fiber optic cables, but it is not capable of
transmitting data at 8 Ghps.

NEW QUESTION 210
- (Exam Topic 3)
Which of the following can be used to store various types of devices and provide contactless delivery to users?

A. Asset tags

B. Biometrics
C. Access control vestibules
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D. Smart lockers

Answer: C

NEW QUESTION 215
- (Exam Topic 3)
Which of the following BEST describes a spirt-tunnel client-to-server VPN connection?

A. The client sends an network traffic down the VPN tunnel

B. The client has two different IP addresses that can be connected to a remote site from two different ISPs to ensure availability
C. The client sends some network traffic down the VPN tunnel and other traffic to the local gateway.

D. The client connects to multiple remote sites at the same time

Answer: C

Explanation:

In a split-tunnel VPN, the client can access both the local network and the remote network simultaneously, with some network traffic sent through the VPN tunnel
and other traffic sent to the local gateway. This approach allows for more efficient use of bandwidth and reduces the load on the VPN server. It also allows the
client to continue accessing local resources while connected to the remote network.

NEW QUESTION 216

- (Exam Topic 3)

A security engineer is installing a new 10S on the network. The engineer has asked a network administrator to ensure all traffic entering and leaving the router
interface is available for the IDS. Which of the following should the network administrator do?

A. Install a network tap for the IDS

B. Configure ACLs to route traffic to the IDS.

C. Install an additional NIC into the IDS

D. Install a loopback adapter for the IDS.

E. Add an additional route on the router for the IDS.

Answer: A

Explanation:
a network tap is a way of connecting an IDS out of band, which means it does not interfere with the normal network traffic. A network tap allows you to view a copy
of the network traffic transmitted over the media being tapped.

NEW QUESTION 220

- (Exam Topic 3)

A network technician was hired to harden the security of a network. The technician is required to enable encryption and create a password for AP security through
the web browser. Which of the following would BEST support these requirements?

A. ESP
B. WPA2
C. IPSec
D. ACL

Answer: B

NEW QUESTION 223
- (Exam Topic 3)
Which of the following can have multiple VLAN interfaces?

A. Hub

B. Layer 3 switch
C. Bridge

D. Load balancer

Answer: B

NEW QUESTION 224

- (Exam Topic 3)

A technician wants to monitor and provide traffic segmentation across the network. The technician would like to assign each department a specific identifier. Which
of the following will the technician MOST likely use?

A. Flow control

B. Traffic shaping

C. VLAN tagging

D. Network performance baselines

Answer: C

Explanation:

To monitor and provide traffic segmentation across the network, a technician may use the concept of VLANSs (Virtual Local Area Networks). VLANs are a way of
dividing a single physical network into multiple logical networks, each with its own unique identifier or "tag."

By assigning each department a specific VLAN identifier, the technician can segment the network traffic and ensure that the different departments' traffic is kept
separate from one another. This can help to improve network security, performance, and scalability, as well as allowing for better monitoring and control of the
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network traffic.

To implement VLANS, the technician will need to configure VLAN tagging on the network devices, such as switches and routers, and assign each department's
devices to the appropriate VLAN. The technician may also need to configure VLAN trunking to allow the different VLANs to communicate with each other.

By using VLANSs, the technician can effectively monitor and segment the network traffic, providing better control and visibility into the network.

NEW QUESTION 228

- (Exam Topic 3)

While waking from the parking lot lo an access-controlled door an employee sees an authorized user open the door. Then the employee notices that another
person catches the door before It closes and goes inside Which of the following attacks Is taking place?

A. Tailgating

B. Pipgybacking

C. Shoulder surfing
D. Phisning

Answer: A

Explanation:
The difference between piggybacking and tailgaiting is that with piggybacking, the person is willfully and intentionally letting you in. In this particular case, the
person caught the door before it closed, so it is tailgating.

NEW QUESTION 233
- (Exam Topic 3)
Which of the following ports are associated with IMAP? (Choose two.)

A. 25

B. 110
C. 143
D. 587
E. 993
F. 995

Answer: CE

Explanation:
Reference:
https://billing.precedence.com.au/billing/knowledgebase/70/Mail-Ports-for-POP3-IMAP-and-SMTP.html

NEW QUESTION 236

- (Exam Topic 3)

A security engineer is trying to determine whether an internal server was accessed by hosts on the internet. The internal server was shut down during the
investigation Which of the following will the engineer review to determine whether the internal server had an unauthorized access attempt?

A. The server's syslog

B. The NetFlow statistics

C. The firewall logs

D. The audit logs on the core switch

Answer: A

NEW QUESTION 240

- (Exam Topic 3)

A device is connected to a managed Layer 3 network switch. The MAC address of the device is known, but the static IP address assigned to the device is not.
Which of the following features of a Layer 3 network switch should be used to determine the IPv4 address of the device?

A. MAC table

B. Neighbor Discovery Protocol
C. ARP table

D. IPConfig

E. ACL table

Answer: C

Explanation:

The ARP table is a database that is used by a device to map MAC addresses to their corresponding IP addresses. When a device sends a packet to another
device on the same network, it uses the MAC address of the destination device to deliver the packet. The ARP table allows the device to determine the IP address
of the destination device based on its MAC address.

NEW QUESTION 245
- (Exam Topic 3)

A network technician receives a report about a performance issue on a client PC that is connected to port 1/3 on a network switch. The technician observes the
following configuration output from the switch:

11 ClientPC  |[Connected |Full 1000 |
1/2 Client PC Connected Full 1000 |
113 Client PC  |Connected |Full 10 |
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Which of the following is a cause of the issue on port 1/3?

A. Speed
B. Duplex
C. Errors
D. VLAN

Answer: A

NEW QUESTION 246
- (Exam Topic 3)
Which of the following is used to provide disaster recovery capabilities to spin up an critical devices using internet resources?

A. Cloud site
B. Hot site
C. Cold site
D. Warm site

Answer: A

NEW QUESTION 248

- (Exam Topic 3)

An organization is interested in purchasing a backup solution that supports the organization's goals. Which of the following concepts would specify the maximum
duration that a given service can be down before impacting operations?

A. MTTR
B. RTO
C. MTBF
D. RPO

Answer: B

Explanation:

The maximum duration that a given service can be down before it impacts operations is often referred to as the Recovery Time Objective (RTO). RTO is a key
consideration in any backup and disaster recovery plan, as it determines how quickly the organization needs to be able to recover from a disruption or failure. It is
typically expressed in terms of time, and it helps to inform the design and implementation of the backup solution. For example, if an organization has a critical
service that must be available 24/7, it may have a very low RTO, requiring that the service be restored within a matter of minutes or even seconds. On the other
hand, if the service can be down for a longer period of time without significantly impacting operations, the organization may have a higher RTO. When selecting a
backup solution, it is important to consider the organization's RTO requirements and ensure that the solution is capable of meeting those needs. A solution that
does not meet the organization's RTO requirements may not be sufficient to ensure the availability of critical services in the event of a disruption or failure.

NEW QUESTION 251
- (Exam Topic 3)
Which of the following use cases would justify the deployment of an mGRE hub-and-spoke topology?

A. An Increase In network security using encryption and packet encapsulation

B. A network expansion caused by an increase in the number of branch locations to the headquarters
C. A mandatory requirement to increase the deployment of an SOWAN network

D. An Improvement In network efficiency by increasing the useful packet payload

Answer: C

NEW QUESTION 252

- (Exam Topic 3)

A network technician is implementing a solution that will allow end users to gain access to multiple applications after logging on. Which of the following
authentication methods would allow this type of access?

A. SSO

B. LDAP

C. EAP

D. TACACS+

Answer: A

NEW QUESTION 257
- (Exam Topic 3)
Which of the following devices have the capability to allow communication between two different subnetworks? (Select TWO).

A. IDS

B. Access point

C. Layer 2 switch
D. Layer 3 switch
E. Router

F. Media converter

Answer: DE
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NEW QUESTION 261
- (Exam Topic 3)

Which of the following is the MOST cost-effective alternative that provides proper cabling and supports gigabit Ethernet devices?

A. Twisted cable with a minimum Cat 5e certification
B. Multimode fiber with an SC connector

C. Twinaxial cabling using an F-type connector

D. Cable termination using TIA/EIA-568-B

Answer: A

Explanation:

twisted cable with a minimum Cat 5e certification is the MOST cost-effective alternative that provides proper cabling and supports gigabit Ethernet devices.

NEW QUESTION 266
- (Exam Topic 3)

During a client audit, a network analyst is tasked with recommending changes to upgrade the client network and readiness. Afield technician has submitted the

following report:

suilding B is connected to Buiiding A via site-to-site directional antennas

Thinty additional users have been added recently and are not shown on the network map

The IT closet and storage room share a space that has poor ventilation

Performance reports show optimal network performance but little on system heaith

Based on this report, which of the following metrics or sensors would be the BEST recommendation to the client?

A. Electrical
B. Humidity
C. Flooding
D. Temperature

Answer: D

NEW QUESTION 268
- (Exam Topic 3)

Which of the following devices Is used to configure and centrally manage access points Installed at different locations?

A. Wireless controller
B. Load balancer

C. Proxy server

D. VPN concentrator

Answer: A

Explanation:

Access points (APs) can be configured and centrally managed using a wireless LAN controller (WLC). A WLC is a device that connects to multiple APs and
provides centralized management and control of those APs. The WLC can be used to configure settings such as wireless network parameters, security settings,
and quality of service (QoS) policies. Additionally, the WLC can be used to monitor the status of connected APs, track client connections, and gather statistics on
network usage. Some vendors such as Cisco, Aruba, Ruckus, etc. provide wireless LAN controllers as part of their wireless networking solutions.

NEW QUESTION 273
- (Exam Topic 3)

A network engineer is investigating reports of poor network performance. Upon reviewing a report, the engineer finds hundreds of CRC errors on an interface.

Which of the following is the MOST likely cause of
these errors?

A. A bad wire on the Cat 5e cable

B. The wrong VLAN assignment to the switchport
C. A misconfigured QoS setting on the router

D. Both sides of the switch trunk set to full duplex

Answer: A

NEW QUESTION 277

- (Exam Topic 3)

Which of the following would be used when connecting devices that have different physical characteristics?
A. A proxy server

B. An industrial control system

C. Aload balancer

D. A media converter

Answer: D

NEW QUESTION 279
- (Exam Topic 3)
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A network administrator has received calls every day for the past few weeks from three users who cannot access the network. The administrator asks all the users
to reboot their PCs, but the same users still cannot access the system. The following day, three different users report the same issue, and the administrator asks
them all to reboot their PCs; however, this does not fix the issue. Which of the following is MOST likely occurring?

A. Incorrect firewall settings

B. Inappropriate VLAN assignment
C. Hardware failure

D. Overloaded CAM table in switch
E. DHCP scope exhaustion

Answer: E

NEW QUESTION 280
- (Exam Topic 3)
Which of the following would be used to forward requests and replies between a DHCP server and client?

A. Relay
B. Lease
C. Scope
D. Range

Answer: A

NEW QUESTION 283

- (Exam Topic 3)

A network switch was installed to provide connectivity to cameras monitoring wildlife in a remote location. The organization is concerned that intruders could
potentially leverage unattended equipment in the remote

location to connect rogue devices and gain access to the organization's resources. Which of the following techniques would BEST address the concern?

A. Configure port security using MAC filtering.

B. Manually register the cameras on the switch address table.
C. Activate PoE+ on the active switchports.

D. Disable Neighbor Discovery Protocol on the switch.

Answer: A

NEW QUESTION 288

- (Exam Topic 3)

A network technician needs to ensure that all files on a company's network can be moved in a safe and protected manner without interception from someone who
is not the intended recipient. Which of the following would allow the network technician to meet these requirements?

A. FTP

B. TFTP
C. SMTP
D. SFTP

Answer: D

NEW QUESTION 291

- (Exam Topic 3)

A Chief Executive Officer and a network administrator came to an agreement With a vendor to purchase new equipment for the data center A document was
drafted so all parties would be Informed about the scope of the project before It started. Which of the following terms BEST describes the document used?

A. Contract

B. Project charter

C. Memorandum of understanding
D. Non-disclosure agreement

Answer: B

Explanation:

The document used to inform all parties about the scope of the project before it starts is likely a project charter. A project charter is a document that outlines the
key aspects of a project, including the project's objectives, scope, stakeholders, and resources. It serves as a formal agreement between the project team and the
stakeholders, and helps to define the project's goals and constraints.

A project charter typically includes information about the project's scope, including the specific deliverables that are expected and any constraints or limitations that
may impact the project. It may also include details about the project team and stakeholders, the project schedule and budget, and the roles and responsibilities of
each party.

By creating a project charter, the Chief Executive Officer and the network administrator can ensure that all parties involved in the project have a clear
understanding of the project's goals and objectives, and can help to prevent misunderstandings or miscommunications during the project.

What is in a project charter?

A project charter is a formal short document that states a project exists and provides project managers with written authority to begin work. A project charter
document describes a project to create a shared understanding of its goals, objectives and resource requirements before the project is scoped out in detail.

What are the 5 elements of the project charter?

What Are the Contents of a Project Charter? A project charter should always include an overview, an outline of scope, an approximate schedule, a budget
estimate, anticipated risks, and key stakeholders

NEW QUESTION 296
- (Exam Topic 3)
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A technician is contracted to install a redundant cluster of devices from the ISP In case of a hardware failure within the network. Which of the following would
provide the BEST redundant solution in Layer 2 devices?

A. Multiple routers
B. Multiple switches
C. Multiple firewalls
D. Multiple budges

Answer: B

NEW QUESTION 299

- (Exam Topic 3)

A technician is investigating packet loss to a device that has varying data bursts throughout the day. Which of the following will the technician MOST likely
configure to resolve the issue?

A. Flow control
B. Jumbo frames
C. Duplex

D. Port mirroring

Answer: A

Explanation:

Ethernet flow control is a mechanism for temporarily stopping the transmission of data on Ethernet family computer networks. The goal of this mechanism is to
avoid packet loss in the presence of network congestion.

Flow control is a mechanism that allows a device to regulate the amount of data it receives from another device, ensuring that the receiving device is not
overwhelmed with data. If the device experiencing packet loss is receiving large bursts of data at times when it is not able to process it quickly enough, configuring
flow control could help prevent packets from being lost.

"In theory, flow control can help with situations like a host that can’t keep up with the flow of traffic. It enables the host to send an Ethernet PAUSE frame, which
asks the switch to hold up for some amount of time so the host can catch its breath. If the switch can, it'll buffer transmissions until the pause expires, and then
start sending again. If the host catches up early, it can send another PAUSE frame with a delay of zero to ask the switch to resume. In practice, flow control can
cause latency trouble for modern real-time applications such as VolP, and the same needs are usually met by QoS™"

NEW QUESTION 301

- (Exam Topic 3)

A network administrator is trying to add network redundancy for the server farm. Which of the following can the network administrator configure to BEST provide
this capability?

A. VRRP
B. DNS
C. UPS
D. RPO

Answer: A
Explanation:
VRRP is an open standard protocol, which is used to provide redundancy in a network. It is a network layer protocol (protocol number-112). The number of routers

(group members) in a group acts as a virtual logical router which will be the default gateway of all the local hosts. If one router goes down, one of the other group
members can take place for the responsibilities for forwarding the traffic.

NEW QUESTION 304
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